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HC-002-001503 Seat No. —
B. Com. (Sem. V) (CBCS) Examination
May / June - 2017

Management Accounting - I
(Core - 10) (New Course)

Faculty Code : 002
Subject Code : 001503

Time : 2% Hours] [Total Marks : 70

QAL (1) ssadl el sug vis el suld 8.

(2) %33 awiddl wae-l ezl salad.

1 ] oo [ dl 31 MRl Aol wsl Al A Yoo, 20
ydl-gai 31-315 | 31-3-16 | asa-4eii 31-315| 31-316
2. 3. 3. 3.
S, 4y, (eis wiadl 1,20,000 | 1,12,000
3. 10+ 97) 4,00,000 | 6,00,000 [ Hs1 2,40,000 | 4,00,000
A 2e1Hd 2,40,000 80,000 | 40l 1,60,000 | 3,80,000
Asl- Al vl 40,000 48,000 [ As1eil 60,000 [ 48,000
10%+11 Ret-=1d - | 2,00,000 |22ls 64,000 [ 1,00,000
edlgdlil 80,000 80,000 [ 2alelRL 1,96,000 | 84,000
aglell 1,00,000 | 1,24,000 [ As3-6i~5 48,000 | 52,000
ERE I RIETE 60,000 68,000 [wialis wal 32,000 | 24,000
9,20,000 | 12,00,000 9,20,000 | 12,00,000
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qui-l wlsdl :

(1) dl. 1-4-15<1 A% AR 2AUHdA Ydsd s 838 6 A s
S5l 4R avl, ol A BMAML AL Sdl.

@)  ad e 3. 56,000+0 219592 ddl 3. 32,000 ALt
Rlag-3 ysaadi e sq.

(3)  HSIL UR 3. 24,000 A ¥o0l u 3. 16,000 sARL 2LE 9.

(4) 3. 40,000+ 4>t sl AAd 8. ¥ A8l Yl vUHd vild BHL
dlia ¢dl.

B)  ad eHad RO 5% q2iadl ol8lR uIl 8dl.

©)  wad i umd R 1 anami qudl 9.

(M 3. 20,000l w3dr-l AR 20% ~isl AAAHL ALl Scll
ASL ASl-sALL A BHL SAUML Al &dl.
Guasll uifsdl uell di. 31-3-16-1 ad M2 ¢dn wla -

Gualold wats dal sidellaydii $s1 saldd wats AR S

wYd)

1 -3 2u0d afla R st 230wl silalla YAl $sR 20
galad u2s A elda YAl uas eleldl

yaogl il 31-316 | 31-215 | Brasdl 31-3-16| 31-3-15
2. 3. 3. 3.

Slsadl Al 10,40,000 | 8,00,000 [uiadl 76,000
AU d 2,20,000 | 2,00,000 | #¥l4-H 51 5,77,000 | 5,94,000
Asl-4 s vilg 1,44,880 | 1,58,760 [ 4~ 4,64,800 | 4,51,800
aglell 1,64,540 | 1,58,080 |zels 3,809,480 | 4,44,160
edlgdlil 50,580 | 1,35,120 [ 2alelRL 2,90,500 | 3,40,700

5AA AdAALS 2,00,000 | 1,60,000 | urRel

o5 3182 - | 238,040 [aRumt 2,940 9,260
o5 [uas 19,280 10,080
18,20,000 | 18,50,000 18,20,000 | 18,50,000
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qui-l wlsdl :

1) ad eHAA Ysdd AU @A qAAU R s
3. 1,40,000 1 3. 1,56,000 sdi.

©2) -y su-ll Masdl 3. 2,40,00041 wileai 2udl sdl. 2udl
Masdlii €ls 3. 86,560, 4ol 3. 73,440 i ousl wadl-l
WA AL A O, uie BHd 3. 2,40,000-0 S 4R

Yy HRUS L Ysaai 2udl edl.

3)  ad e(™uld 3. 22,600 Al wilEl @ 9.

2 s [ dl. 31-3-2016+1 A%+ AR WG AAY 1A wdl © ¢ 20

wq161513] i) Y (3.) | Masd sy (3.)
Slsadl 1M, s ol -4 51 12,50,000
3. Q0+l ddl W 7,50,000 | wl-e-4-il 6,25,000
10%-l 5. 9R¥4 7,50,000 | s(HaR 1,87,500
A A 2,50,000 | 221 75,000
A5l vllg 1,25,000 | 2alg1R) 1,00,000
10%-1 [Ré=2l 4,12,500 | asll&dl 37,500
ARlelR) 62,500 | A53-61~5 87,500
eqlédl 37,500 | wialts wal 37,500
Ysaqidl olsl vl 12,500

24,00,000 24,00,000
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aqiu-l wledl :

3.
(D) 44 ARABL ...t 11,25,000
— A Hlasl U3, 5,62,500

SIAL ASL 5,62,500

— qdladl, el A ~ueudld vl L 1,87,500
SARU USALL ASL ..o, 3,75,000

— SRR B0% e, 1,87,500
AVl A8l 1,87,500

2)  w3d-l 25 3. 1,12,500

Gu+ll Hilsdl ul ld-u yeiluA-l ALl 32 :
(1) sl st RldR

)  Ag AR

)  uadl driuR

@) duE- ARl

()  ®R1s dRiR

(6) 2alelR IRNdR (ad-l 360 [BaRl owRlal-L 89.)
(M Wl ol

©®) Al Y U andr e

@ S5 2y U aadr &2

(10) QRielR 9RNdR (M-l 360 [2axil auRidl)

wYd)
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2 sue [l dl. 31-3-2016+1 AL WSl w3 2 il qlsdl 20

uYl ~flA-L oeld 24l :

(1) s Gual &R

@) gl ol

) Asda HI R andr &R
(4) QRER dRITR

BG) S5 4l wR qadR &2

s9 [, di. 31-3-2016-U A¥< ul§ AAY

xqio gl 3. | Pasdl 3.
Slsadl M 9,00,000 | 514l Basdl 11,25,000
AS1-5AL Uil 2,55,000 | €15 2,62,500
8%+l e~ 3,75,000 | salgIR) 3,00,000
6w BLAILE 4,50,000 | aellgd 75,000
RIS 1,50,000 | As3-6L+5 3,67,500

21,30,000 21,30,000

qyiu-l wilsdl :
(1) A5 AL & QAR 20% 6.
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@)  dl. 1-4-15- A% ¥s 3. 1,87,500 8.

(3) 2dlelR RN 90 [Ray ©. (-l 360 [au owiqy)
4) s sl oRldR 40% €.

(B) % i 59U usall Al 8L 3. 3,75,000 €.

6) AU &2 50% 9.

3 st R Al QA wledl Ha @ 15
aa ‘ dyel 3. | sl 3.
AHAR Ul H2MmalR ‘ 5,00,000 | 1,05,000

Honaid ARl A 481 wsH 3. 75,000 A 3. 45,000

AMAR Sl Ay 6,

qeladl $2A :

(1) AMge Piga qael.

2)  odaR< [Rad 4Rl 3. 1,50,000 A dl d [Bad 5L 3 sl
sedl 89 7

3) 3. 52,500 sl Huaql %33 AL

wYd)
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3 Rd R ypudl AL s dARKL 25% w2 wd 8. 15
o] M dARL 6 og) 2y A A8l 25% Ukl U,
suslal Rl Wiml gl sl 2L o) ARl 8 A
3. 75,000 <l Hae)
a4l
(1) sl dRIR
©2) R wal
(3) AMqe [big
@) 3. 2,40,000- AL A8\

(B) 3. 2,40,000 <8l HaqdlL w2 %33 dAel.

4 wa Su-l-l Rse el qi w2 ege sHlgdl-l SR1El 15
AN B, duIR €35 dRgHl uddr salad uwas olld s Rsed
AHE Y sl O dul A weuda Fswmidl s Mael
wyAldg d sl sl O
(1) ‘vl 9000 isH A ‘oL 6000 isH,
2) ML ‘wHL 18000 isH
(3) ML ‘o<l 12000 isH

@) ‘vl 12000 dsH A ‘o<l 4000 isH
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dq Qi A usdl 2yl 209 9

[aad g ¥’ qg ‘o’
UE HldAHIA (B1sHEls) 3. 40 3. 50
uds 1Rl salsels 3. 1 av 20 sals 30 sdls
A wal ¢ (Rl 2s) 100% 100%
QL Bud (aLsudls) 3. 120 3. 200

Ra wa vl 3. 4,00,000.

wYd)

Ml U3dR QAL dsldd M.
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Instructions : (1)

ENGLISH VERSION

Figure to the right side indicate marks.

(2) Show necessary calculation as a part of answer.
1  Following are the balance sheets of the Khushbu Ltd. 20
as on 315t March :
Liabilities 31-3-15 31-3-16 | Assets 31-3-15 31-3-16
Equity share capital Goodwill 1,20,000 [ 1,12,000
(each share of Building 2,40,000 | 4,00,000
Rs. 10) 4,00,000 | 6,00,000 [ Machinery 1,60,000 | 3,80,000
General Reserves 2,40,000 80,000 | Investment 60,000 48,000
P and L. Account 40,000 48,000 | Stock 64,000 | 1,00,000
10% Debentures 2,00,000 | Debtors 1,96,000 84,000
Bills Payable 80,000 80,000 | Cash & Bank 48,000 52,000
Creditors 1,00,000 | 1,24,000 [ Prelimimary

Provision for Tax 60,000 68,000 [ Exp. 32,000 24,000
9,20,000 | 12,00,000 9,20,000 | 12,00,000

Additional Information :

(1) On 1-4-15 company has given bonus share from General
Reserve. One bonus share is given against two equity
shares.

(2) Taxation paid during the year was Rs. 56,000 and
interim dividend of Rs. 32,000 was also paid.

HC-002-001503 | 9 [ Contd...



3)

machinery is Rs. 16,000.

4)

Depreciation charged on building is Rs. 24,000 and on

A machine having book value of Rs. 40,000 was sold with

profit. This profit was credited to Capital Reserve

Account.

()
©6)
()

Goodwill was written off against capital reserve.

profit was credited to Profit and Loss Account.

During the year debentures were issued at 5% discount.

Investments of Rs. 20,000 were sold at 20% profit and

From the above information, prepare a statement of

source and application of funds and a statement showing

changes in working capital.

OR
From the following Balance sheets of a Swapnil Ltd. 20
prepare : A statement showing changes in the working capital
and A statement of source and application of funds :
Liabilities 31-3-16 31-3-15 | Assets 31-3-16 31-3-16
Equity share Goodwill 76,000
capital 10,40,000 | 8,00,000 | Land-
Reserve 2,20,000 | 2,00,000| Building 5,77,000| 5,94,000
P&L Account 1,44,880 | 1,588,760 | Plant 464,800 | 4,51,800
Creditors 1,64,540 | 1,58,080 | Stock 3,89,480| 4,44,160
Bills Payable 50,5680 | 1,35,120 | Debtors 2,90,500 | 3,40,700
Bank overdraft 2,38,040 | Sundry
Provision for Advances 2,940 9,260
Taxation 2,00,000 | 1,60,000| Cash at Bank 19,280 10,080
18,20,000 | 18,50,000 18,20,000 | 18,50,000
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Additional Information :

(1) During the year taxes and interim dividend paid were

Rs. 1,40,000 and Rs. 1,56,000 respectively.

(2) The assets of another company were purchased for

Rs. 2,40,000 payable in fully paid equity shares of the

company. The assets consisted of stock Rs. 86,560, Plant

Rs. 73,440 and remaining amount was for Goodwill.

(3) During the year the purchase price is Rs. 22,600 for a

plant.

The following is the summarized balance sheet of 20
Karan Ltd. as on 31-3-2016 :
Liabilities Rs. | Assets Rs.
Equity share capital Land-Building 12,50,000
Rs. 10 each share 7,50,000 | Plant-Machineries 6,25,000
10% preference share 7,50,000 | Furniture 1,87,500
General Reserve 2,50,000 | Stock 75,000
Profit and Loss Alc 1,25,000 | Debtors 1,00,000
10% Debentures 4,12,500 | Bills Receivable 37,500
Creditors 62,500 | Cash-Bank 87,500
Bill Payable 37,500 | Preliminary
Outstanding exp. 12,500 expenses 37,500
24,00,000 24,00,000
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Additional Information :

Rs.
(1) Total sales.....ccooeeiiiiiiiiiiiiiieeieeeeeeeeee. 11,25,000
— Cost of goods sold ..........ccooeevviiiiiienennnnn. 5,62,500
Gross Profit......cccooeeeeeeiiiiiieeee 5,62,500
— Administrative, selling and
Financial EXp. .....ccooooiiiiiiiiiiinn.. 1,87,500
Profit Before Tax ......cccooooviiiiiiieeeeeieeaaee, 3,75,000
— Taxes BOY c.eeeeeeee e, 1,87,500
Net Profit ..ooooooveeiieee e 1,87,500
(2) Opening stock was Rs. 1,12,500
Calculate the following according Ratio from the above
information :
(1) Gross Profit Ratio
(2) Current Ratio
3) Liqud Ratio
(4) Operating Ratio
(5) Stock Turnover Ratio
(6) Debtors Ratio (360 days to be taken for the year)
(7) Proprietary Ratio
(8 Rate of return on capital employed
Q) Rate of return on equity share capital

(10) Creditor’s ratio (360 days to be taken for the year).

OR
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2  Find out the following ratio from the balance sheet of 20
“Kathan” Ltd. as on 31-3-2016 and additional details given
to you :
(1) Stock turn over ratio
(2) Ownership ratio
(3) Rate of return on capital employed
4) Creditors ratio

(5) Rate of return on equity ratio.

Balance sheet of Kathan Ltd. on 31-3-2016

Liabilities Rs. | Assets Rs.
Equity share capital| 9,00,000 | Fix assets 11,25,000
P & L Account 2,55,000 | Stock 2,62,500
8% Debentures 3,75,000 | Debtors 3,00,000
Bank Overdraft 4,50,000 | Bills receivable 75,000
Creditors 1,50,000 | Cash and Bank 3,67,500

21,30,000 21,30,000

Additional Information :

(1) Cash sale is 20% of total sales.

(2) Stock on 1-4-15 is Rs. 1,87,500.

(3) Debtors ratio is 90 days (consider 360 days of the year)
(4) Gross Profit is 40% of sales.

(5) Net profit (before interest and tax) is Rs. 3,75,000

(6) Rate of taxation is 50%
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3  Following are the particulars of the Akash Ltd. : 15

Day | Sales (Rs.) | Profit (Rs.)

Monday and Tuesday ‘ 5,00,000 ‘ 1,05,000

Sales and profit of Tuesday are Rs. 75,000 and

Rs. 45,000 more than those of Monday respectively.

Calculate :
(1) Break Even point

(2) If sales on Wednesday is Rs. 1,50,000, the amount of

Profit and Loss

(3) Find out sales to earn profit Rs. 52,500.
OR

3  Aarav Ltd. suffers loss at 25% of sales in month of 15
January. In February sale is doubled than that of January
and earned profit at 25% of sale. In March, sale is twice that
of January and earns profit of 75,000. From above details.

Find out :

(1) Profit Volume Ratio

(2) Fixed expenses

(3) Break even point

(4) Profit, when selling is Rs. 2,40,000.

(5) Find out sales to earn profit Rs. 2,40,000.
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4  The directors of JIL Ltd. are considering the sales budget 15
for the next budget period. You are required to present to
the board a statement showing the marginal cost of each
product and recommend which of the following sales mixes
should be adopted :
(1) 9000 units of ‘A’ and 6000 units of 'B’.
(2) 18000 units of ‘A’ only
(3) 12000 units of ‘B’ only
4) 12000 units of ‘A’ and 4000 units of ‘B’.
Your have provided the following additional information :
Particulars Product ‘A’| Product ‘B’
Direct materials (per unit) Rs. 40 Rs. 50
Direct wages at Rs. 1.00
per hour 20 hours 30 hours
Variable cost : Percentage
of wages 100% 100%
Selling price (per unit) Rs. 120 Rs. 200
Fixed overheads exp. Rs. 4,00,000

OR
4  Explain the meaning and characteristics of differential 15

costing. State the difference between marginal cost and

differential cost.
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